> restart

Facitliste
Opgave 401
> (54I)*(1+9*I);
—4 +461
> I+IA2+4IA3+IA4;
0
> 1/(1+3*I)+1/(1+3%I)A2;
19,
50 25
> 1/(1+I)A4;
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Opgave 402
> (1+43/(1+I))A2;
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Opgave 403
> (B+2*ID)*(1+I)A2+(5+I)*(1+9*I) ;
—8+521

> 1/(1+3*I)+1/(1+3*I)A2-9/(25*I);
1

50
Opgave 404
> I/(1+I)A4+1/2%(1/(sqrt(3)-I)-1/(sqrt(3)+I));
1 1 1 1 1
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> simplify(%);
0

> 1+I+IA2+IA3;

Opgave 406
> evalc(polar(4,-Pi));

—4
> evalc(polar(2,4*Pi/3));
1-1/3
> evalc(polar(6,21*Pi/4));
—3+/2 =312
Opgave 408
> polar(-4-4+1);
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polar(4 2, —= j

> polar(2*sqrt(3)-6+*I);

polar(4\/§, —% th

> polar(4/(1+1));
polar(Z \/E, —

Opgave 409
> evalc(polar(2,4*Pi/3));
—61

> evalc(polar(14,15*%P1));
—14

> evalc(polar(1/4,-13*%Pi/6));
15 1
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> evalc(polar(2,-Pi/8));
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> convert(%,radical);

V22 —1/2 -2

Opgave 412
> abs((2-3*%I)A2/(8+6*I)A2);
13
100
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